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Section A

Questions 1 to 16 cany 2 marks each. For each question, four optiohs are given.
One of them is the correct answer. Make your choice {1,2,30r4)..

Shade the oval (1, 2, 3 or 4) on the Optical Answer Sheet.

© (32 marks)

1

© She gave'the ca

5650 =5000+60x ][ 1 +50.

What is the missing number?

M1

) 10
(3) 100

. (4 1.000

- What is.the: quotient when 1S$-is divided by3? o

(1) 50
2) 2 ‘
3) 3
@) 52°

Complete the number pattern. . D‘.FO

340 , 520 , 680 , ~_, 940 ~840

(1) 720

(2) 760

(3) 820

" (4) 860

Shanti-bought a dress and three pairs of shorls.
The dress cost $58.

hier. $100 and had $17 change.

How fnuch was &ach pair of shorts?

8
@ 39

3 $2

{4) $44

49
(Go on to the next page)



Gloria reached school at .50 a.m. Mei Mei reached school 45 minutes later.
At what time did Mei Mei reach school?

(1) 6.05am.
(2) 7.30 am.

(3) . 7.35am.
{4) 7.40 am.

"Which of the followirig' pair of fractions is not equivalent?

L o

2 .3
S
-2 -3
“-% 9
10 5 .
W 2 3
: B 6

How many grams are there in 2 kg 2 g?
(1) 2029 '

{2) 2204g

(3) 2002g
.{4) 2020g

Charlotte is 2 500 g heavier than Sara.
Charlotte weighs 20 kg. What is Sara’s weight?
(1) 17kg500 g

(20 18ky500¢

T {37 20 kg 256 ¢

{4) 22kg5004g

(Go on to the next page)
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12

Mrs Tan had a piece of cloth. She cutit into 8 equal pleces and had 55 m of
cloth left. Each piece was 36 m long.

(1)
(2)
3)
(4)

‘What was the length of cloth that Mrs Tan had at first?

233 m
288 m
343.-m
476 m

A container is half-filed with water. When { pour 1 L 800 mil into it, it is filled
with water completely. What is the capacity of the econtainer?

[

@
@)

)

-900 mls
. 3600 ml.

1 1 800 ml
-2b700 mlz

In the figures, each square is 1 square uRit.

()~

(2)
(3)

(4) -

. Which of the following. figure below has the greatest penmeter‘?

(.

oO®P

The length of a rectangular field is 186 m and its breadth is 53 m.
What is the perimeter of the field? '

(1)

2y

{3)
“)

133 m : ] >
239 m Co
292 m
478 m

X1,

(Go on to the next page)



13 Which of the figures below has the greatest number of right angles?

| :
Fig 1 Fig.2 Fig 3 Fig4

(1) Fig1
(2) Fig2.
(3) Fig3
@) Figd.

) 14 Kewn bought four 2~lltre tms ‘of pamt After paintsng his home he had
1L SOOmb of pamt !eft How much pamt did-he. use’)

(1) 500 ml

2) 2 1500 ml
(3) 6 1500 ml
4) 7 1500 ml

(Go on to the next page)
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The bar graph below shows how.people travel to work each day.
Study it and answer questions 15 and 16..

Number of people

100

500
400}
300[

z200{

. Bus ~ Car’ Bieycle - - Walk -

Mode of transport

15 How many more people take the bus than the car?

(D
(2)
(3)
(4}

100

150 - -

200

400

‘46  What is the total number of people who watk or cycle to work?

(1)
- A2)
3
(4)

200

250 ..

450
6580

X7,

(Go on to the next page)



Section B

Questions 17 to 35 camy 2 marks each. Write your answers in the spaces provided.

For questions which require units, give your answers in the units stated. (38 marks)

17 Find the value of 347 x 5.

- Ans:

18 K{Jr_'nar and. Putra have some étarﬁps: Kumar has 452 stafnp;S;and Pufra has.
- 57 stamps fewer than him. How many stamps do.they have aitogéther? -

Ans:

19 Jennifer and Bob have $67.90.
How much more money do they need to buy a racket which cost $957?

Ans: 3

(Go on to the next page)
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20 ° Mirada selis cupcakes. The price of a plain cupcake is $0.70 and the price of
a cream cupcake is $1. She sold ten of each type of cupcakes.
How much money did she collect in alf?

21 A worker wanted 1o cover the floor of the staffroom with carpet tiles.

Each carpet tile measures.3 m by 2-m and he needed 35 of them.
What is the area of the staffroom floor?

Ans: m?

"22  Asackofrice and a packei @f'ﬂ@ur have a 1@‘(&1 mass of 6 kg

THe mass of the sack of ficé is 8 kg 500 g heavier than the mass of a packet
of flour. How heavy is the packeét of flour?
Give your-answer in kilegrams and grams.

Ans: kg g -

Xy.
(Go on to the next page)



23 Samuel walks 1 km 95 m to school every day. Peter takes another path.that
is 650'm shorter. What is the distance that Peter walks to school each day?

S Ansl Cm

24 Stnng A is twace as long as S’mng B. Stnng B is3 tlmes as long as Strmg C
String C is 1 m 50 cm. What is the length-of ’S’mng A?

.Ans: - .. P .Gm. H .

25 * Awater: container contams 51 5@9#}%9? w,ater Jane sp‘iﬂs 400 m}zof water
while: peunng She pours the remaxnmg water-equally inte 5 1dentieal jugs.
What is‘the volunie of water in each ;ug’?

Ans: wil

(Go on to the next page)
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26 Vinitha went to the schoot library at 10.45 am. ‘She ieft the library at 12.15p.m.
How long did she stay in the library? Give your answer in hours, and minutes.

Ans: h, __min

27  Mr Ow fakes 15 minutes to travel to work. Mr Goh takes 3 times as long as
Mr Ow. What time must-Mr Goh leave horne if he has fo reach his work place .
'é—’tB;BBa-mj?'- - A Lo : o

Ans: a.m.

28 What fraction of thie figure below is shaded?

Ans:

x).

{Go on to the next page)
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29  Arrange the following fractions in increasing order.

1
b w
-4[.6:

Ans:

30 Jém_e _s'peﬁt %of herinoney onfoed. She spent% less meney.-on stationery

.. ihanonfood. Whétfraction S i mbRiy Was feft? .
Giveyour answer in the simplestferm: .~

F

ARs:

31 MrTan had 297 lollipops. He gavegach of s plpils 7 lolipops and he had
with 3 lollipops left. How many pupils did tie have in his class? '

a

Ans:

(Go on to the next page)
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The graph below shows the ice-cream flavours that the Primary 3 pupils in
Ever Shine Primary School like most.

100}~

o 80"’

2

=5

. Q .-

_‘*5 601~

€ nbk

E "40 :

=R ]
20 1

Chocoldte Strawberry GrebhiTea  Vanilla  Ofange

lce-cream Flaveurs y

32 How many more pupils like chocolate than orange?

Ans:

x9.

{Go on to the next page)



13

33 Name a pair of parallel fines in the figure below.

Ans: - i

34 Name two lines that are perpendicular to the line XY.

Ans: and

(Go on to the next page)
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35  Mark all the right angles in the figure below.

End of booklet

@
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SectionC

For .questions 36:10 40, show your working clearly and wiite your answers, in the
space provided. The number of marks available is shown in brackets{ Jattheend
of Sty qoeston or parteuestion. ' (20 marks)

36 Kumarhad $7.60. He had 12-fifty-cent coins. The rest of his money were
twentyt—-eent coins. . .

{2) Howmany 20-¢ent coins did he have?

{b) He had $3.90 it after buying a notebook. How much did the notebook

@

Ans: (@) 181

®

{Go on to the next page)
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37 Nuraini took a 4 h 40 min flight from Singapore to Perth.
(a) She left Singapore at 11.35 a.m. Atwhat time did she arrive in Perth?

(b) Helgn took a differentihght and reached Perth 59_:'miﬂ' before Nuraini.
How-fong was Helen’s flight?

L T

() I

{Go on to the next page)




38 Peter cut a cake into.6 equal pieces. Heate 1 piece. Minnje ate 2 imes as
) many pieces as Peter.

(a) What fraction of the- cake did Peter-eat?

(b) What fraction of the:cake-was le®#?

Give your answer in the simiplest form.

a

Ans: {a)_ . Z‘l‘i]

®) &
61

(Go on to the next page)




39 There are 628 beads in Jar A, Jar B and Jar C.
There are 3 times as many. beads inJarB as Jar A.
There are 3 more beads in-Jar C than'Jar A.

(a) How many beads are there in-JarA?-

(b} How many. more beads are there injar-B:than-Jai A?

Aost @) P
®.

el

(Go on to the next page)
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40  The figure below shows a rectangular piece of paper measuring
24 cm by 8 cm. Four small squares of side 2 cm are cut out from the four
corners of the piece of paper.
(a) What is the perimeter of the remaining piece of paper?.

(b) What is the area of the remaining piece of paper?

24 cm

’ I E ‘- * A ‘
2ch ] . : e

&4
.Y

1 8m
. -
| -] 11
! i e
Ans: (a) 12l

by - 1]

End of Paper

9.
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'EXAM PAPER 2012

SCHOOL : MGS
SUBJECT: PRIMARY 3 MATHEMATICS

TERM :  SA2.

1 Q1 | Q2| 03.|Q4 | Q5106 | Q7 Q8 Q9 | Q10

Qll

'Q15

Q16

ORI

-2_ 4 1 3 .2,. '3..-4“_:3 .] 321 .4“-1_..3_ __2_-

) 17)1735,’ ) -18)84 7 ) 10)$27.10 ‘i10)$17_ o 21)210m:
5.'2)"1k§ 2’50’9” o "7;3')..445};{ - 24)906&:61' 25)'162061'!1 ' 2%)ih 30min
27)7.45a.m. 28)7/8 29)3/7,3/5,7/10  30)%  31)42
32)70 33)GB//EC 34)LF/ /K 35)

36)a)8 b)$3.70
37)a)4.15 b)3h 50min
38)a)1/6 b)6/6—3/6=3/6 3=

39)a)628 -3 = = 625
625+-5 =125
There are 125 beads in Jar A.
. b)125%x3=375. . -
" 375-125=250

There are 250 bead more in Jar B then in Jar A.

40)a)2x2 =4
4x4=16
24x8 =192
192 -16 = 176 - -

3 .

7.
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